SRl 10213903403 EE52[5E

2023FF108H11H, B8g=  20:39

AT T B A R B LB, S HH H B R K

1. 4
M | & bl
A—4{>1 "—-‘!O }.T: & 04—4 LE oY
BTl Anpris leadpgt{e ], [
iy ( AP

C

Y=C

2. b FEIRTREZH , Kb S ~S, fEhThakE s, M RBHEIHY S, ~ S, fEAR M EEN,

W F 5% ANA.B2RBRECKEER.

A———— &1 =1
B A A
: | w}ga e AR (B =(p+8)(A
2 S +8)
‘. (MR) = A4R
’ = AR R

——— & |5 g [>1 A+tg
i S N = A®R

0

N
|
|
%27

DX HFBENLL A% 1 T




4. o T R R 2 AL R B8 H e ST T R A T RE.

Ay ———»—— — Y,

- ‘l'

|

|
| |
+Tj;

F-—:—dl

-

’
—
| |
[ L L

=
i
=

[
([ 4

—_———_—_—c ocoCc>
—_—— cC—-——o0o >
— O —C—c—-0>
——— —ccooX’
cCo————oo=x| .|
C>“-—C>C>—-aq>;{

AT AYEER MEBIIBRE— N HEIEAE, ATLALIEE
FRRRSCIN 7 it AR A S BB ABRITORE.

. TS T il B0 A HL B B0 S B0 BB A 6 1B A B B R I

Al W e e
fla, b, ¢) S m(0, 1, 3,5,7)

x=flabe)=Tm(0,(,3572)=ZM(2,46)= @E T C

M
12

\V

— X

N o] 2

DX HFFERLR I 2 1T




fla, b, c,d) = > ,m(1,4,5,7,8,12)

ONQOOIIl(Q
00 |LO{M]0][0

—

DX HFBERLR A5 3 T




fla. b. c. d., e) l:””"- .3.4,.6, 7,15, 21, 25)
z=2m(0,),3,4,.7)+ Mgt Zm(21,25)
SRb ZN(L5) Hamt g, t M ca\o

:o\L(doHe)(the) tabcde
+abcde + o\bcde

,o-]-ll_l—

0\
ty
10 )

-

=ab td2 cde tbide tabcde
%b 202 <Je +(betdbc)de

I

)]

ab e cge + E abc € s

|

—&!

B

“87,
-
AED, %)

|

N0 &) o= 0] 0O —) o 2/ S

DX HFBERLR 195 4 T




N2 AR RELEE N [~ L, Hh L e s, Ak ERm A Y

L AT . H i A T S A

BMIZEAEE R

L v T(; Y1= I, '1'12

0
'0 é YO:]-;“‘E;]:L
| =I3+1,1,

[
i

~

—oc o o

0
0
(

X

X X — c|H
> X X x|

g
(@gB)
2

rrrrTe”

5

DX HFBERL A5 5 T

Yy,




B fla, O, c) :_:a’nf_l, 3,5, 7)

@: ml—'—ml‘f‘f/hs—(-m\?: ?'YLEYS: Y;

BINQCT R

C—l
b —2
O\bﬂ‘f

— B

l—

&

=

Z
~NorrogPwprp_— O

H{

DX HFBERLI U5 6 TT




[

f(a, b, ¢) = I M(3, 5, 7)

DMt = orrgY, = LT,

[ RIN/OCT |
C—) 0 b~
b —[2 ) o=
mx_J4 2 p—

L

% en TP -
— SJ\_j D
0—9 6 o 5 ,
0—o0 7

15. Hi &8

B 1 BHE v 3% 8% S0 B T BT R 0B 4 R B, A R VR R
58 | F (A, B) H S, S F (A, B)
| } }
ADB I 10 A+ B
A-B I 11 A®B
|
NOR= pnptRTE

A

*}- ?

2

3

21 N"g

o —&
-1 |

DX HFBERLR I 7]




16. %1 5t

NARFRNTRARAEHEE, e EMNBIEEFA LI T2 28R .

m(0, 1, 4,5, 7)

DX HFBERL A5 8 TT




DX HFFZERL A5 9 T



21. R EREE TS THSHRE, ERELMOATENALLERR.

Q=bd+ocd + abT+ ab g

= M‘VO\E()‘%O\ (bto) % O\L_H(T)

[

DX HFBERL A5 10 T




2. CMETFTEFRNEE SRR TNER R t = 5 ns. (6% EBZERM MR, W B H
K=0fMK=1@HHiTrMmHEE.

X =1_, L 30ms |  30me
T
=
K =0
[ ES—— I
QKL ‘ )
bx=1T . |
|x 1—— . , > __ ‘ Oz
e L S I ¥ i
\\}‘Shg \LS'\S (7
0x 4——x =,
f P I L

DX HFBERLL A9 11 T




DX HFBERL A5 12 T




